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Section- A

gEfTss e (Objective types Question)
i) 9o fa9d gg &1 LHIATT D g8 7
) 1914 q) 1918
dq) 1929 T) 1939
When did the First world war begin?
A) 1914 B) 1918

C) 1929 D) 1939

ii) IRETT FIWE BT Aqed fbae fbar ?

) HETCHT WM d) URGR doov Ucd

W) Wa g 3) Sl Ios uNR
Who led the Bardoli Satyagraha ?

A)  Mahatma Gandhi B) Sardar Vallabh Patel

C) Bhagat Singh D) Dr. Rajendra Prasad

iii) WI & 394 9 g g 7

3) g are 9 =g BYUled
W) AEdd I RSS!
Steam engines are related to ?
A)  James Watt B)  James Hargreaves
C)  Michael Wolf D)  Aristotle

iv) 1780 H UGG §T 7ol ST off 7

3) < 9  W«ied

S/IIIER q) aff®
The Bengal Gazette magazine published in 1780 was ?

A) Daily B)  Weekly

C) Monthly D)  Annually



V) MRd & &%he &1 fhaw Uferd WRT USRI &5 & 3faiid 3mdr & ?

3) 43 yfaerd q) 27 yfderd
W) 30 uferd ) 9 yfed
What percentage of the India's area comes under the plateau region?
A) 43 Percent B) 27 Percent
C) 30 Percent D) 9 Percent

vi) IRt 919 Rod Rerd & —
) IR q) AU
) NIoTRIH T 3|
Sariska Tiger Reserve is situated in -
A)  Gujarat B)  Madhya Pradesh
C) Rajasthan D) Assam

vil) YRd BT AT & Iaa ¥ fava # w9 © —

) usal C) BRI |

W) AN 3)  drer
India's place in the world in the production of sugar is -

A)  First B)  Second

C)  Third D)  Fourth

viii) f=faRaa & & Sior aRdgs &1 TR & —

) Fed UgRgEd q) o uRagd

W) uRudrE ])  9gel uRaed
Which of the following is a type of water transport -

A) Roadways B)  Railways

C)  Pipelines D)  Overseas



ix) Rigel fod <1 @ IrommeT § 7 (1)

3  dfesram q)  sicidr
[ AT 3) U
Sinhali is the official language of which country?
A)  Belgium B)  Sri Lanka
C)  Netherlands D)  Nepal
X) A BT IS AT H Tl IR DI F&AT 8§ — (1)
) 21 d9) 20
) 22 q) 24

The number of languages recorded in the 'Eight Schedule' of the constitution is?

A) 21 B) 20
c) 22 D) 24
Xi) 2011 B STTOET & FTAR IRA BT felfgurd & ? (1)
) 929 §) 943
q) 919 T) 939

The sex ratio of India according to the census 2011 is ?

A) 929 B) 943
C) 919 D) 939
Xii) 9 ¥ B Igoi FHST UTS] BT WP © 2 (1)
3)  BIYRM §)  |rg HERMS
W) dIRIR. IS H ])  SAIfder g
Who among the following is the founder of the Bahujan Samaj Party?
A) Kanshi Ram B)  Sahu Maharaj

C) B.R. Ambedkar D)  Jotiba Phule



2)

Xiii) T IR BT ARSI UPpiad Iihar 3 e fha &x a1 fafafer 2—(1)
3) UrRIH® q) foda®
q) e 3)  SYga |4l

Production of a commodity mostly through the natural process is an activity of

which sector -

A)  Primary B)  Secondary
C)  Tertiary D)  All of the above
Xiv) 9 B NTIARH el § WA 81 & — (1)
) I q)  dEen At
W) NTEBR q) T A B A
Formal source of credit does not include -
A) Bank B)  Cooperatives
C) Money lender D)  None of these
Xv) RIS QUR ¥ Frfyd s\t o FaiRa a=ar g ? (1)
)  W.T.O. 9)  UN.O.
¥ RB.L ] T wd
Who determine the rules related to interrational trade?
A)  W.T.O. B) U.N.O.
C) R.B.L D)  All these
Raa et @ gfif S
Fill in the blanks:
i) 9998 ¥ Ugell dusT fAet............. H o (1)
The first textile mill was established in Bombay in ..........................
i) AR GRD & oRID oo = (1)

.................. is the author of the book Gulamgiri.



Crude Oilisanon ........cceuee....... resource .
iv) faf=1 <2l & drg R T iR g UHIHR0T & ufshar ... gl (1)

............. is this process of rapid integration and interconnection between different

countries.

v) RRMHA sr@rell g1 &1 FR & T R (1)
Shiromani Akali Dal mainly belongs to the state of ....................

'6) D A UOTe H Sifaw wfad Sear § fAfed Bt 21 (1)
Ina.....cce..... system of governance the ultimate power lies with the people.
vii) STITERATA 8% Td ¥ ... DI IAYAD AR b HQY Pl PR A | (1)
Jawaharlal Nehru proudly proclaimed the ............ as the 'temples of modern
India'.

SITTETRIHD U : 777 U1 & SR U Ieq 37dl Tep Gfdel H ST |

Very short answer type questions : Answer the following question in one word or

one line .

{) TR @1 ® ? (1)
What is Begar ?

ii) FelTS wreet @ § ? (1)
What is Fly shuttle?

iii) RUFT S BT 3fdshR =T faear 2 (1)
Who invented the spinning jenny?

iv) &R & fafv= i & W faleag ? (1)
Write the names of different organs of the governement ?

v) I0T R | MY RIT FHST & 7 (1)

What do you understand by varna system?

vi) RIS Sl Bl AT 9 19 &8 i 3fdfed oxar © 2 (1)

Who allots accreditation and election symbols to political parties?



vii) Hhel BNe] IcUTE Dl YRHINT SISy ? (1)
Define gross domestic product?

viii) T ST RTF6T FRER UE 9 1fd/d <20 § 8, 9T Hedwl & 2 (1)
What are those companies called which do business in more than one country ?
ix) YRAR g=asiiae o1 R f oy ar] fhar ar ? (1)

In which year was the Indian Wildlife Protection Act implemented?

X) &I YUYl | AT R FIT Y9G USd § ¢ 9eT H garsy | (1)

What are the effects of noise pollution on humans? Explain briefly.

Y — d

Section-B

TETRICHD U3 © (STR Teq HIHT I 50 Ieq)
Short answer type questions: (Answer word limit approx: 50 words)

ATSHE HHITE YRA Rl ST ? )

Why did Simon commission come to India?

Ul HEPIA - IRA H rgdig & fdbr § a1 Irere fear ?
(@12 <1 fawg fefm) (2)

What contribution did print culture make to the growth of nationalism in India?

(Write any two points)

| DI ARIGR! I S0 & ? Blg &l T QY | @)
Why is power sharing important ? Give any two agruments.

fh=2l QI yTaerm=i &7 5T oY i MIRA &l oF ARUeT g 9991 § 2 2)
Mention any two constitutional provision that make India a secular state?
RIS Sl H GEIR & PIg al g3l B ook BN 7 7))

Mention any two points of reform in political parties?

Alpas & Big af Mdd IuAfRET qargd | (2)

Explain any two economic achievements of Democracy.



10)

11)

12)

13)

14)

15)

16)

gRviar o™ & fofv i gyl 272 (2)

Why is sustainability important for development?

facel IR @ STRIGIOT | 3T T FHS § 7 (2)
What do you understand by liberalisation of foreign trade?
IOIIT GReTT AT 1986 & AT & SToxd FI US! ? 2)

Why was there a need for the enactment of consumer protection Act 19867
UBTS! & § HaT 3[R Bl JHAH & o7 T H3H IS =AMy ? 2)

What steps can be taken to control soil erosion in the hilly areas?

THST IERI QT & DIy & dAed dargy ? 2)
Mention any two goals of 'Narmada Bachao Andolan'?

I He™ H X uRRag &1 [derd Ud R @1f¥eh g f2H1ad vady &3 § &4
B3I & | BRI 18y | 2)
The development and expansion of rail transport has been more in the northern

plains and less in the Himalayan mountain region. Give reason ?

Yis — 9

Section-C

<TE TR U9 : (STR e AT THT 100 9R)

Long answer type questions: (Answer word limit approx: 100 words)

e B A B Ry Su Wi TRRefRE B 9o B ? ()
Describe the Geographical conditions required for the growth of rice?

31e1dt1 / Or
T8 SHidPT PV DI ARSI §U SHD! TS FHYT Fsy ?

While explaining intensive subsistence farming, explain its main problems.



17)

18)

19)

1929 @1 HETHAI P AHSI Y D &I HRUN B Iocid HIfoTg ? (3)
While explaining the great despression of 1929, mention its two reasons?

31erdr / Or
RRMACAT Yo &1 a1l W #Rd g A9 4 Ay T fJaR0l & R W I
Bl & R H g8y ?
While explaining the meaning of the indentured system, explain its condition on

the basis of the details given in the chapter.

A Saven & g faRvarsii &1 9o FHIfy | (3)
Describe the main features of the Federal System?

31erdr / Or
1992 & AL HAYT & UYgel 3R 916 & WM AET & AgdYYl AR| Bl
qqrg ?
Explain the important differences in local governance before and after the

constitutional amendment of 1992.

RIS ¥ 7 AU 2 ? RIS & &I UHRI BT Seetd HIfog | (3)
What is meant by unemployment? Mention two types of unemployment.

3 qdr / Or
ATII~D &3 qT 7ol &5dh H R Bifoy ?

Difference between public sector and private sector.




Yrs — ©
Section - D
aaTHS U ¢ ([TR Ieq AT TRTHIT 200—250 I1e8)
Essay type questions: (Answer word limit approx: 200-250 words)

20) FHfaRad o fewoflt forlRag ? (4)

1. o Ay & Qi

2. a1 & BRI
Write a note on the following?

1. Demerits of Barter

2. Function of Money

31erdr1 / Or
ARG 9§ AU T FASK § ° R H SNUAiNG &56 § A B He Rl
PR |
What do you understand by creditability? Explain in briefly credit in the formal
sector in India.
21) Wi HIifd & gard wid # MY 98ardl & fadR | 9o DI | (4)

Describe in detail the changes that took place in France after the French

revolution?
341/ Or
fcs 5 Irgare &1 gicre™ AV PRIT B o1 J 5 ghR A= o ?
qUE IR |
Describe how the history of nationalism in Britain was different from that of the

rest of Europe ?



22)  UEH &1 SR ¥ W "AERF | ARY -

Write the answer in the given map:-

e T IRd @ &1 "R #§ FEAfalRad drren @l By ifed B (@)

31) RIRIe q) IR
q) R T) wdel
Mark the following Coal mines in the given outline map of India ?
A) Singarauli B) Raniganj
C) Singareni D) Neyveli
3gar/ OR

R T IRTG & Y@ A H§ FEfRead emufds ol |93l &1 sifed
I |
3) RN q) aaTeT
) BeludnH BSINEN
Mark the following nuclear power plants in the given outline map of India?
A) Naraura B) Rawatbhata
C) Kalpakkam D) Tarapur



